SNC 2D0 | Name:

Classifying Reactions and Balancing Chemical Equations

For each of the chemical reactions are listed below, complete the following:
# Balance the skeletal equation
Hd The type of chemical reaction (synthesis, decomposition, single displacement, or double

displacement)
1.
#* Balance the skeletal equation: 2 Cu+ 0, »_7 Cu0
£ Reaction type: A?m,ﬂuu_o
2.
# Balance the skeletal equation; Z H,O —» O+ _ 2 H,
Reaction type: Aeconposilio.
3.
#* Balance the skeletal equation: __ 2 Fe+ 3  H,O0— Fe;O3 + 3 H,
L] Reaction type: M\,?/{e_ 60;.’
4.
#* Balance the skeletal equation: =3 H.S + 2 AsCl; —» As;S; + é HCI
EL Reaction type: diaplacesmnont
5. ‘
# Balance the skeletal equation: _ CaCOj —» CO, + CaO
Reaction type: W
6.
# Balance the skeletal equation: HS+ 2 KOH— K:S+ 2 HOH
0 Reacton tpe: __ cloubly dliaplactrmend
7. |
#* Balance the skeletal equation: Sg+ g Fe » O _FeS
Reaction type: A,,%mﬂum '
8.
# Balance the skeletal equation: <3 HsSOs+ 2 Al - Al(SO4)s + o3 Hs
Ll Reaction type: _Am;LaWM
9.
#* Balance the skeletal equation: Hi;PO, + 3 NH,OH — (NH,);PO4 + 3 HOH
Reaction type: ) ‘

10.
: # Balance the skeletal equation: \3 Oy + H Al > 2 ALO;

Bl Reaction type: M




11.

# Balance the skeletal equation: . 3 HySOs+ 2 AOH)s —>  Alx(SO4); + £ HOH
G&M

EQQH Reaction type:

12.
f Balance the skeletal equation: Ch + 2 KBr » 2 KCI+ Brs
[} Reaction type: Al/rw& &(,C/l

13,
#” Balance the skeletal equation: Ca+ 2 HOH — Ca(OH), + Ho
Reaction type: _fdgzﬂ%{p L .

14,
#* Balance the skeletal equation: 2 H,O, — O, + 2 H,O
Reaction type: W

15.
#* Balance the skeletal equation: 2 Na+ __Ch —» 2, NaCl
£ Reaction type: z :

16.
#® Balance the skeletal equation: Zn + Pb(NQO3), — Zn{NQOs), + Pb
[ Reaction type: ,4{/)45;&( 'f

17.
#° Balance the skeletal equation; 2 Nal + Pb(NO3): — 2 NaNO; + FPbi.
Reaction type: M y

18
# Balance the skeletal equation: Ps+ 5 0, > 2 P,0s
EL) Reaction type: W

19.
#* Balance the skeletal equation: NH/NOs —» 2 H,O + N-O

_ Reaction type: iy
20.

#* Balance the skeletal equatlon CaI2+ Z AgNO; — Ca(NOs), + _ 2 Agl

1] Reaction type:




